	ENT ntown Sidewalk Improvements ING: August 12, 2008	BIDDER NAME A ADDRES	.ND	1 End General Co 28605 SE 216th Maple Valley, W	Street	Construct Co. 1621 Pease Ave Sumner, WA 98		RW Scott Cons 4005 W. Valley Auburn, WA 98	Hwy #A	Rodarte Constru P.O. BOX 1875 Auburn, WA 98	·	P.O. BOX 370 Sumner, WA 9	onstruction, Inc. 8390	6 Oceanside Cons 1225 E. Sunset Bellingham, WA	Dr. #145
		TOTAL			\$1,190,694.80		\$1,197,589.06		\$1,241,160.00		\$1,256,660.00		\$1,386,737.00		\$1,396,997.0
TEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		TOTA
NO.	DESCRIPTION QUANTIT	Υ	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
	SCHEDULE I A - Street														
	Mobilization	1	LS	\$65,426.92	\$65,426.92	\$72,000.00	\$72,000.00	\$100,000.00	\$100,000.00	\$126,000.00	\$126,000.00	\$92,182.00	\$92,182.00	\$97,000.00	\$97,000.0
1005A	Clearing and Grubbing	1	LS	\$605.61	\$605.61	\$5,600.00	\$5,600.00	\$6,500.00	\$6,500.00	\$7,500.00	\$7,500.00	\$99,823.00	\$99,823.00	\$22,000.00	\$22,000.00
	Remove Existing Asphalt Concrete Pavement	75	SY	\$8.33	\$624.75	\$6.50	\$487.50	\$10.00	\$750.00	\$15.00	\$1,125.00	\$7.50	\$562.50	\$16.00	\$1,200.0
1015A*	Remove Existing Cement Concrete Driveway/Pavement	275	SY	\$8.64	\$2,376.00	\$11.70	\$3,217.50	\$10.00	\$2,750.00	\$15.00	\$4,125.00	\$12.00	\$3,300.00	\$20.00	\$5,500.00
1020A*	Remove Cement Concrete Sidewalk	1500	SY	\$5.72	\$8,580.00	\$6.00	\$9,000.00	\$7.00	\$10,500.00	\$10.00	\$15,000.00	\$12.00	\$18,000.00	\$20.00	\$30,000.00
1025A*	Remove Cement Concrete Curb and Gutter	600	LF	\$2.90	\$1,740.00	\$6.40	\$3,840.00	\$6.00	\$3,600.00	\$6.00	\$3,600.00	\$7.50	\$4,500.00	\$4.00	\$2,400.0
1030A*	Remove Cement Concrete Extruded Curb	20	LF	\$2.88	\$57.60	\$2.60	\$52.00	\$6.00	\$120.00	\$3.00	\$60.00	\$5.00	\$100.00	\$27.00	\$540.0
1035A	Existing Irrigation System Removal, Repair and/or Modificat	ic 1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.0
1045A*	Fraffic Sign Relocation	12	EA	\$189.08	\$2,268.96	\$93.00	\$1,116.00	\$170.00	\$2,040.00	\$125.00	\$1,500.00	\$273.00	\$3,276.00	\$96.00	\$1,152.0
	Saw Cut Existing Asphalt Concrete Pavement	900	LF	\$1.96	\$1,764.00	\$1.60	\$1,440.00	\$3.50	\$3,150.00	\$2.00	\$1,800.00	\$2.00	\$1,800.00	\$2.00	\$1,800.0
1055A*	Saw Cut Existing Cement Concrete Pavement	125	LF	\$5.38	\$672.50	\$3.80	\$475.00	\$5.50	\$687.50	\$5.00	\$625.00	\$4.00	\$500.00	\$6.00	\$750.0
1060A*	Roadway Excavation, Including Haul	350	CY	\$31.49	\$11,021.50	\$20.60	\$7,210.00	\$25.00	\$8,750.00	\$28.00	\$9,800.00	\$16.00	\$5,600.00	\$25.00	\$8,750.0
1065A*	Unsuitable Foundation Excavation, Including Haul	50	CY	\$31.28	\$1,564.00	\$31.00	\$1,550.00	\$25.00	\$1,250.00	\$45.00	\$2,250.00	\$30.00	\$1,500.00	\$25.00	\$1,250.0
070A*	Geotextile Fabric, Non-Woven	50	SY	\$2.89	\$144.50	\$2.30	\$115.00	\$2.90	\$145.00	\$3.00	\$150.00	\$6.00	\$300.00	\$3.00	\$150.0
075A*	Gravel Borrow, Including Haul and Compaction	1000	TON	\$12.15	\$12,150.00	\$20.10	\$20,100.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00	\$19.00	\$19,000.0
*A080	Crushed Surfacing Top Course, 5/8 Inch Minus	625	TON	\$14.61	\$9,131.25	\$20.00	\$12,500.00	\$22.00	\$13,750.00	\$19.00	\$11,875.00	\$17.00	\$10,625.00	\$22.00	\$13,750.0
085A*	Crushed Surfacing Base Course, 1 1/4 Inch Minus	75	TON	\$14.61	\$1,095.75	\$20.00	\$1,500.00	\$22.00	\$1,650.00	\$19.00	\$1,425.00	\$17.00	\$1,275.00	\$25.00	\$1,875.0
1095A*		30	TON	\$293.83	\$8,814.90	\$277.00	\$8,310.00	\$275.00	\$8,250.00	\$210.00	\$6,300.00	\$276.00	\$8,280.00	\$230.00	\$6,900.0
1125A*	Cold Plant Mix for Temporary Pavement Patch	10	TON	\$157.44	\$1,574.40	\$111.00	\$1,110.00	\$150.00	\$1,500.00	\$210.00	\$2,100.00	\$102.00	\$1,020.00	\$333.00	\$3,330.0
1140A*	Cement Concrete Commercial Driveway, 8 Inch Depth, Rein	fc 275	SY	\$60.60	\$16,665.00	\$63.00	\$17,325.00	\$51.00	\$14,025.00	\$50.00	\$13,750.00	\$66.00	\$18,150.00	\$78.00	\$21,450.0
145A*	Cement Concrete Sidewalk	2200	SY	\$43.47	\$95,634.00	\$53.00	\$116,600.00	\$35.00	\$77,000.00	\$35.00	\$77,000.00	\$45.00	\$99,000.00	\$51.00	\$112,200.0
1155A*	Ramp Detectable Warning Retrofit	50	SF	\$53.27	\$2,663.50	\$32.00	\$1,600.00	\$45.00	\$2,250.00	\$50.00	\$2,500.00	\$41.00	\$2,050.00	\$59.00	\$2,950.0
1170A*	Cement Concrete Sidewalk Ramp Type 2A	1	EA	\$897.00	\$897.00	\$1,100.00	\$1,100.00	\$850.00	\$850.00	\$800.00	\$800.00	\$856.00	\$856.00	\$1,400.00	\$1,400.00
1200A	Cement Concrete Sidewalk Ramp Type 4A	5	EA	\$897.00	\$4,485.00	\$1,100.00	\$5,500.00	\$850.00	\$4,250.00	\$800.00	\$4,000.00	\$708.00	\$3,540.00	\$1,200.00	\$6,000.0
1205A*	Cement Concrete Curb and Gutter	575	LF	\$14.93	\$8,584.75	\$34.85	\$20,038.75	\$15.00	\$8,625.00	\$18.00	\$10,350.00	\$18.00	\$10,350.00	\$24.00	\$13,800.0
1220A*	Adjust Existing Catch Basin Grate or Curb Inlet Grate to Fini	s 2	EA	\$132.09	\$264.18	\$669.00	\$1,338.00	\$350.00	\$700.00	\$275.00	\$550.00	\$356.00	\$712.00	\$700.00	\$1,400.0
1225A*	Adjust Existing Manhole Cover to Finished Grade	2	EA	\$132.09	\$264.18	\$791.00	\$1,582.00	\$350.00	\$700.00	\$350.00	\$700.00	\$356.00	\$712.00	\$700.00	\$1,400.0
1230A*	Lower Existing Meter Setter	1	EA	\$809.45	\$809.45	\$295.00	\$295.00	\$350.00	\$350.00	\$325.00	\$325.00	\$585.00	\$585.00	\$600.00	\$600.0
235A*	Adjust Existing Meter Box to Finished Grade	2	EA	\$34.50	\$69.00	\$205.00	\$410.00	\$250.00	\$500.00	\$150.00	\$300.00	\$189.00	\$378.00	\$48.00	\$96.0
1240A	Adjust Existing Junction Box to Finished Grade	8	EA	\$34.50	\$276.00	\$185.00	\$1,480.00	\$150.00	\$1,200.00	\$175.00	\$1,400.00	\$189.00	\$1,512.00	\$24.00	\$192.0
245A*	Replace Existing Meter Box for up to 3/4 Inch Diameter Serv	7	EA	\$614.32	\$4,300.24	\$295.00	\$2,065.00	\$300.00	\$2,100.00	\$600.00	\$4,200.00	\$259.00	\$1,813.00	\$317.00	\$2,219.0
250A*	Replace Existing Meter Box for 1-Inch to 2 Inch Diameter Se	er 1	EA	\$637.44	\$637.44	\$295.00	\$295.00	\$500.00	\$500.00	\$900.00	\$900.00	\$595.00	\$595.00	\$440.00	\$440.0
315A*	Pothole Utilities	30	EA	\$183.68	\$5,510.40	\$142.00	\$4,260.00	\$300.00	\$9,000.00	\$400.00	\$12,000.00	\$284.00	\$8,520.00	\$100.00	\$3,000.0
325A*	Remove Existing Landscape Tree	59	EA	\$281.92	\$16,633.28	\$174.20	\$10,277.80	\$350.00	\$20,650.00	\$800.00	\$47,200.00	\$459.00	\$27,081.00	\$634.00	\$37,406.00
345A*	<i>W</i> atering	200	HR	\$50.00	\$10,000.00	\$44.00	\$8,800.00	\$50.00	\$10,000.00	\$50.00	\$10,000.00	\$16.00	\$3,200.00	\$50.00	\$10,000.0
	TOTAL SCHEDULE I A				\$302,306.06		\$347,589.55		\$343,092.50		\$406,210.00		\$456,697.50		\$436,900.00
	SCHEDULE IV A - Storm Sewer														
	Storm Sewer Pipe, 6 Inch Diameter, RCP	8	LF	\$70.73	\$565.84	\$144.15	\$1,153.20	\$70.00	\$560.00	\$60.00	\$480.00	\$40.00	\$320.00	\$53.00	\$424.0
1175A*	Crushed Surfacing Top Course, 5/8 Inch Minus TOTAL SCHEDULE IV A	5	TON	\$14.61	\$73.05 \$638.89	\$20.00	\$100.00 \$1,253.20		\$110.00 \$670.00	\$19.00	\$95.00 \$575.00	\$17.00	\$85.00 \$405.00	\$22.00	\$110.0 \$534.0

ITY OF KENT			1		2		3		4		5		6	
008 Downtown Sidewalk Improvements	BIDDE		End General Co		Construct Co.		RW Scott Const		Rodarte Constru	uction, Inc.		onstruction, Inc.	Oceanside Cons	
SID OPENING: August 12, 2008	NAME	AND	28605 SE 216th	Street	1621 Pease Ave	enue	4005 W. Valley	Hwy #A	P.O. BOX 1875		P.O. BOX 370		1225 E. Sunset	Dr. #145
	ADDR	ESS	Maple Valley, W	/A 98038	Sumner, WA 98	3390	Auburn, WA 98	8001	Auburn, WA 98	071	Sumner, WA 9	8390	Bellingham, WA	98226
	TOTAL	_		\$1,190,694.80		\$1,197,589.06		\$1,241,160.00		\$1,256,660.00		\$1,386,737.00		\$1,396,997.0
TEM				TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		TOT
IO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOL
SCHEDULE V A - Traffic Control														
5005A* Traffic Control Labor	1200) HR	\$45.00	\$54,000.00	\$40.00	\$48,000.00	\$40.00	\$48,000.00	\$41.00	\$49,200.00	\$37.50	\$45,000.00	\$41.00	\$49,200.
5015A* Traffic Control Supervisor	300	HR	\$46.50	\$13,950.00	\$46.66	\$13,998.00	\$40.00	\$12,000.00	\$41.00	\$12,300.00	\$38.50	\$11,550.00	\$46.00	\$13,800.
5020A Temporary Traffic Control Devices	1	LS	\$4,427.00	\$4,427.00	\$5,450.00	\$5,450.00	\$23,000.00	\$23,000.00	\$1,000.00	\$1,000.00	\$3,900.00	\$3,900.00	\$900.00	\$900.
5035A* Sequential Arrow Sign (SAS)	30	DAY	\$69.00	\$2,070.00	\$90.37	\$2,711.10	\$100.00	\$3,000.00	\$125.00	\$3,750.00	\$63.00	\$1,890.00	\$21.00	\$630.
TOTAL SCHEDULE V A				\$74,447.00		\$70,159.10		\$86,000.00		\$66,250.00		\$62,340.00		\$64,530.
SCHEDULE VI A - Electrical														
6005A Illumination System	1	LS	\$246,445.00	\$246,445.00	\$231,444.00	\$231,444.00	\$283,500.00	\$283,500.00	\$220,000.00	\$220,000.00	\$231,444.00	\$231,444.00	\$256,000.00	\$256,000
6010A Remove and Relocate Existing Luminaire	1	EA	\$375.00	\$375.00	\$2,700.00	\$2,700.00	\$3,000.00	\$3,000.00	\$2,600.00	\$2,600.00	\$2,700.00	\$2,700.00	\$3,000.00	\$3,000
6015A Service Cabinet	3	EA	\$6,152.50	\$18,457.50	\$5,778.00	\$17,334.00	\$6,600.00	\$19,800.00	\$6,000.00	\$18,000.00	\$5,778.00	\$17,334.00	\$6,900.00	\$20,700
6080A* Street Tree Bollard with Electrical Receptacle	32	EA	\$770.90	\$24,668.80	\$675.00	\$21,600.00	\$800.00	\$25,600.00	\$650.00	\$20,800.00	\$675.00	\$21,600.00	\$1,200.00	\$38,400
TOTAL SCHEDULE VI A				\$289,946.30		\$273,078.00		\$331,900.00		\$261,400.00		\$273,078.00		\$318,100.
SCHEDULE VII A - TESC														
7000A* Silt Fence	500	LF	\$5.70	\$2,850.00	\$2.77	\$1,385.00	\$8.00	\$4,000.00	\$4.00	\$2,000.00	\$10.00	\$5,000.00	\$7.00	\$3,500.
7015A* Inlet Protection	11	EA	\$77.78	\$855.58	\$42.50	\$467.50	\$80.00	\$880.00	\$70.00	\$770.00	\$89.00	\$979.00	\$40.00	\$440
7020A* Straw Mulch	50	SY	\$1.02	\$51.00	\$7.18	\$359.00	\$10.00	\$500.00	\$15.00	\$750.00	\$1.00	\$50.00	\$2.00	\$100
7030A* ESC Lead	100	DAY	\$69.00	\$6,900.00	\$40.50	\$4,050.00	\$100.00	\$10,000.00	\$30.00	\$3,000.00	\$195.00	\$19,500.00	\$10.00	\$1,000
7055A Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000
TOTAL SCHEDULE VII A				\$20,656.58		\$16,261.50		\$25,380.00		\$16,520.00		\$35,529.00		\$15,040.
SCHEDULE VIII A - Roadside Restoration														
8000A* Street Tree, Including Planting and Staking	39	EA	\$941.28	\$36,709.92	\$198.00	\$7,722.00	\$850.00	\$33,150.00	\$900.00	\$35,100.00	\$677.00	\$26,403.00	\$725.00	\$28,275
8001A* Seeding, Fertilizing and Mulching	0.5	AC	\$4,312.50	\$2,156.25	\$3,485.00	\$1,742.50	\$3,500.00	\$1,750.00	\$4,000.00	\$2,000.00	\$1,571.00	\$785.50	\$1,600.00	\$800
3005A* Topsoil Type A	50	CY	\$58.65	\$2,932.50	\$30.35	\$1,517.50	\$40.00	\$2,000.00	\$52.00	\$2,600.00	\$60.00	\$3,000.00	\$35.00	\$1,750
3015A* Bark or Wood Chip Mulch	25	CY	\$54.05	\$1,351.25	\$29.00	\$725.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$60.00	\$1,500.00	\$51.00	\$1,275
3025A* 48 Inch Square Ductile Iron "Kent" Tree Grate (2	Pieces) 39	EA	\$798.56	\$31,143.84	\$933.55	\$36,408.45	\$700.00	\$27,300.00	\$800.00	\$31,200.00	\$902.00	\$35,178.00	\$770.00	\$30,030
3030A* Tree Grate and Frame Installation	39	EA	\$106.15	\$4,139.85	\$220.00	\$8,580.00	\$150.00	\$5,850.00	\$115.00	\$4,485.00	\$75.00	\$2,925.00	\$100.00	\$3,900
8035A* Sod Installation	25	SY	\$9.78	\$244.50	\$10.90	\$272.50	\$10.00	\$250.00	\$9.00	\$225.00	\$11.00	\$275.00	\$28.00	\$700
TOTAL SCHEDULE VIII A				\$78,678.11		\$56,967.95		\$71,550.00		\$76,860.00	1	\$70,066.50		\$66,730.

	.NT utown Sidewalk Improvements NG: August 12, 2008	BIDDE NAME ADDRE	AND	End General Co 28605 SE 216th Maple Valley, W	n Street	2 Construct Co. 1621 Pease Aver Sumner, WA 98		3 RW Scott Const 4005 W. Valley Auburn, WA 98	Hwy #A	Rodarte Constru P.O. BOX 1875 Auburn, WA 98		Pivetta Bros. Co P.O. BOX 370 Sumner, WA 98		6 Oceanside Cons 1225 E. Sunset Bellingham, WA	Dr. #145
		TOTAL			\$1,190,694.80		\$1,197,589.06		\$1,241,160.00		\$1,256,660.00		\$1,386,737.00		\$1,396,997.
TEM					TOTAL		TOTAL		TOTAL		TOTAL	-	TOTAL		TO
10.	DESCRIPTION QUANT	ГІТҮ	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOL
	CHEDULE I B - Street														
1000B M		1	LS	\$23,147.70	\$23,147.70	\$41,839.00	\$41,839.00	\$53,000.00	\$53,000.00		\$45,000.00	\$14,927.00	\$14,927.00	\$36,800.00	\$36,800.
	learing and Grubbing	1	LS	\$238.96	\$238.96	\$5,575.00	\$5,575.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$83,531.00	\$83,531.00	\$5,800.00	\$5,800.0
	emove Existing Asphalt Concrete Pavement	25	SY	\$8.33	\$208.25	\$6.50	\$162.50	\$10.00	\$250.00	\$15.00	\$375.00	\$7.50	\$187.50	\$16.00	\$400.0
	emove Existing Cement Concrete Driveway/Pavement	250	SY	\$8.64	\$2,160.00	\$11.70	\$2,925.00	\$10.00	\$2,500.00	\$15.00	\$3,750.00	\$12.00	\$3,000.00	\$20.00	\$5,000.0
	emove Cement Concrete Sidewalk	850	SY	\$5.72	\$4,862.00	\$6.00	\$5,100.00	\$7.00	\$5,950.00	\$10.00	\$8,500.00	\$12.00	\$10,200.00	\$20.00	\$17,000.0
	emove Cement Concrete Curb and Gutter	150	LF	\$2.90	\$435.00	\$6.40	\$960.00	\$6.00	\$900.00	\$6.00	\$900.00	\$7.50	\$1,125.00	\$4.00	\$600.
	emove Cement Concrete Extruded Curb	25	LF	\$2.88	\$72.00	\$2.60	\$65.00	\$6.00	\$150.00	\$3.00	\$75.00	\$5.00	\$125.00	\$27.00	\$675.0
	xisting Irrigation System Removal, Repair and/or Modifica		FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.
	emoval of Raised Pavement Markers and Painted and/or		LS	\$1,322.50	\$1,322.50	\$108.00	\$108.00	\$1,400.00	\$1,400.00	\$500.00	\$500.00	\$1,250.00	\$1,250.00	\$1,274.00	\$1,274.0
	raffic Sign Relocation	15	EA	\$189.08	\$2,836.20	\$93.00	\$1,395.00	\$170.00	\$2,550.00	\$125.00	\$1,875.00	\$273.00	\$4,095.00	\$96.00	\$1,440.
	aw Cut Existing Asphalt Concrete Pavement	125	LF	\$1.96	\$245.00	\$1.60	\$200.00	\$3.50	\$437.50	\$2.00	\$250.00	\$2.00	\$250.00	\$2.00	\$250.
	aw Cut Existing Cement Concrete Pavement	50	LF	\$5.38	\$269.00	\$3.80	\$190.00	\$5.50	\$275.00	\$5.00	\$250.00	\$4.00	\$200.00	\$6.00	\$300.
	oadway Excavation, Including Haul	75	CY	\$31.49	\$2,361.75	\$20.60	\$1,545.00	\$25.00	\$1,875.00	\$28.00	\$2,100.00	\$16.00	\$1,200.00	\$25.00	\$1,875.
	nsuitable Foundation Excavation, Including Haul	50	CY	\$31.28	\$1,564.00	\$31.00	\$1,550.00	\$25.00	\$1,250.00	\$45.00	\$2,250.00	\$30.00	\$1,500.00	\$25.00	\$1,250.
	eotextile Fabric, Non-Woven	50	SY	\$2.89	\$144.50	\$2.30	\$115.00	\$2.90	\$145.00	\$3.00	\$150.00	\$6.00	\$300.00	\$3.00	\$150.
	ravel Borrow, Including Haul and Compaction	20	TON	\$12.15	\$243.00	\$20.10	\$402.00	\$20.00	\$400.00	\$20.00	\$400.00	\$20.00	\$400.00	\$19.00	\$380.0
	rushed Surfacing Top Course, 5/8 Inch Minus	100	TON	\$14.61	\$1,461.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00	\$19.00	\$1,900.00	\$17.00	\$1,700.00	\$22.00	\$2,200.0
	rushed Surfacing Base Course, 1 1/4 Inch Minus	20	TON	\$14.61	\$292.20	\$20.00	\$400.00	\$22.00	\$440.00	\$19.00	\$380.00	\$17.00	\$340.00	\$25.00	\$500.0
	MA Class 3/4", PG 64-22	10	TON	\$293.83	\$2,938.30	\$277.00	\$2,770.00	\$275.00	\$2,750.00	\$210.00	\$2,100.00	\$276.00	\$2,760.00	\$230.00	\$2,300.
	MA Class 3/4" for Full Width Overlay, PG 64-22	525	TON	\$104.94	\$55,093.50	\$99.00	\$51,975.00	\$97.00	\$50,925.00	\$100.00	\$52,500.00	\$99.00	\$51,975.00	\$122.00	\$64,050.
	laning Bituminous Pavement	1900	SY	\$4.83	\$9,177.00	\$4.65	\$8,835.00	\$5.00	\$9,500.00	\$6.00	\$11,400.00	\$2.00	\$3,800.00	\$4.00	\$7,600.
	old Plant Mix for Temporary Pavement Patch	10	TON	\$157.44	\$1,574.40	\$111.00	\$1,110.00	\$150.00	\$1,500.00	\$210.00	\$2,100.00	\$102.00	\$1,020.00	\$333.00	\$3,330.
	ement Concrete Commercial Driveway, 8 Inch Depth, Rei		SY	\$60.60	\$15,150.00	\$63.00	\$15,750.00	\$51.00	\$12,750.00	\$50.00	\$12,500.00	\$66.00	\$16,500.00	\$78.00	\$19,500.
	ement Concrete Sidewalk	1100	SY	\$43.47	\$47,817.00	\$53.00	\$58,300.00	\$35.00	\$38,500.00	\$35.00	\$38,500.00	\$45.00	\$49,500.00	\$51.00	\$56,100.0
	amp Detectable Warning Retrofit	150	SF	\$53.27	\$7,990.50	\$32.00	\$4,800.00	\$45.00	\$6,750.00	\$50.00	\$7,500.00	\$41.00	\$6,150.00	\$59.00	\$8,850.0
	ement Concrete Sidewalk Ramp Type 2A	1	EA	\$897.00	\$897.00	\$1,100.00	\$1,100.00	\$850.00	\$850.00	\$800.00	\$800.00	\$856.00	\$856.00	\$1,400.00	\$1,400.0
1205B* C€	ement Concrete Curb and Gutter	150	LF	\$14.93	\$2,239.50	\$34.85	\$5,227.50	\$15.00	\$2,250.00	\$18.00	\$2,700.00	\$18.00	\$2,700.00	\$24.00	\$3,600.0
	djust Existing Catch Basin Grate or Curb Inlet Grate to Fi	nis 4	EA	\$132.09	\$528.36	\$669.00	\$2,676.00	\$350.00	\$1,400.00	\$275.00	\$1,100.00	\$356.00	\$1,424.00	\$700.00	\$2,800.
	djust Existing Manhole Cover to Finished Grade	2	EA	\$132.09	\$264.18	\$791.00	\$1,582.00	\$350.00	\$700.00	\$350.00	\$700.00	\$356.00	\$712.00	\$700.00	\$1,400.0
1230B* Lc	ower Existing Meter Setter	1	EA	\$809.45	\$809.45	\$295.00	\$295.00	\$350.00	\$350.00	\$325.00	\$325.00	\$585.00	\$585.00	\$600.00	\$600.
1235B* Ac	djust Existing Meter Box to Finished Grade	2	EA	\$34.50	\$69.00	\$205.00	\$410.00	\$250.00	\$500.00	\$150.00	\$300.00	\$189.00	\$378.00	\$48.00	\$96.0
1245B* R€	eplace Existing Meter Box for up to 3/4 Inch Diameter Se	erv 2	EA	\$614.32	\$1,228.64	\$295.00	\$590.00	\$300.00	\$600.00	\$600.00	\$1,200.00	\$259.00	\$518.00	\$317.00	\$634.0
	eplace Existing Meter Box for 1-Inch to 2 Inch Diameter S		EA	\$637.44	\$637.44	\$295.00	\$295.00	\$500.00	\$500.00	\$900.00	\$900.00	\$595.00	\$595.00	\$440.00	\$440.0
	djusting Existing Monument, Case and Cover to Finished		EA	\$103.50	\$103.50	\$87.00	\$87.00	\$300.00	\$300.00		\$350.00		\$356.00	\$780.00	\$780.
	othole Utilities	30	EA	\$183.68	\$5,510.40	\$142.00	\$4,260.00	\$300.00	\$9,000.00	\$400.00	\$12,000.00		\$8,520.00	\$100.00	\$3,000.
	emove Existing Asphalt Concrete Pavement from Gutter	175	SY	\$10.93	\$1,912.75	\$6.50	\$1,137.50	\$12.00	\$2,100.00		\$2,100.00		\$1,750.00	\$16.00	\$2,800.
	emove Existing Landscape Tree	3	EA	\$281.92	\$845.76	\$174.20	\$522.60	\$350.00	\$1,050.00	\$800.00	\$2,400.00	\$459.00	\$1,377.00	\$634.00	\$1,902.0
	elocate Existing Landscape Tree	2	EA	\$1,437.50	\$2,875.00	\$183.75	\$367.50	\$500.00	\$1,000.00		\$3,000.00	\$1,005.00	\$2,010.00	\$418.00	\$836.0
1345B* W	/atering OTAL SCHEDULE I B	100	HR	\$50.00	\$5,000.00 \$207,024.74	\$44.00	\$4,400.00 \$233,521.60	\$50.00	\$5,000.00 \$227,997.50	\$50.00	\$5,000.00 \$234,630.00	\$16.00	\$1,600.00 \$281,916.50	\$50.00	\$5,000.0 \$265,412. 0
					\$207,024.74		#200,021.00		<i>\$22.1,771.30</i>		\$204,000.00		\$20.1,710.30		Ψ200, Τ 12.0
	CHEDULE IV B - Storm Sewer														
	torm Sewer Pipe, 4 Inch Diameter, Ductile Iron, Class 50		LF	\$43.80	\$876.00	\$60.00	\$1,200.00	\$40.00	\$800.00	\$60.00	\$1,200.00	\$40.00	\$800.00	\$88.00	\$1,760.0
4175B* Cr	rushed Surfacing Top Course, 5/8 Inch Minus	5	TON	\$14.61	\$73.05	\$20.00	\$100.00	\$22.00	\$110.00	\$19.00	\$95.00	\$17.00	\$85.00	\$22.00	\$110.0

CITY OF KENT 2008 Downtown Sidewalk Improvements BID OPENING: August 12, 2008	BIDDEI NAME A ADDRE	E AND	1 End General Cor 28605 SE 216th Maple Valley, W.	th Street	2 Construct Co. 1621 Pease Aver Sumner, WA 98	enue	3 RW Scott Constru 4005 W. Valley F Auburn, WA 980	struction Co. y Hwy #A	A Rodarte Construc P.O. BOX 1875 Auburn, WA 980		5 Pivetta Bros. Con P.O. BOX 370 Sumner, WA 983		6 Oceanside Const 1225 E. Sunset I Bellingham, WA	nstuction et Dr. #145
	TOTAL	.L		\$1,190,694.80		\$1,197,589.06	. [\$1,241,160.00	.	\$1,256,660.00	I	\$1,386,737.00	.	\$1,396,997.0
TEM				TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		ТОТ
	QUANTITY	UNIT	UNIT PRICE		T UNIT PRICE		T UNIT PRICE	AMOUNT			+		T UNIT PRICE	AMOU
TOTAL SCHEDULE IV B				\$949.05		\$1,300.00		\$910.00		\$1,295.00	1	\$885.00		\$1,870.0
SCHEDULE V B - Traffic Control						ı		ı		ļ	1	·		
5005B* Traffic Control Labor	600		\$45.00	\$27,000.00	\$40.00	\$24,000.00	\$40.00	\$24,000.00	\$41.00	\$24,600.00		\$22,500.00		\$24,600.
5015B* Traffic Control Supervisor	150) HR	\$46.50	\$6,975.00	\$46.66	\$6,999.00	\$40.00	\$6,000.00	\$41.00	\$6,150.00	\$38.50	\$5,775.00	\$46.00	\$6,900.0
5020B Temporary Traffic Control Devices	1	LS	\$2,122.88	\$2,122.88	\$5,400.00	\$5,400.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$2,452.00	\$2,452.00	\$900.00	\$900.
5035B* Sequential Arrow Sign (SAS)	15	DAY	\$69.00	\$1,035.00	\$90.37	\$1,355.55	\$100.00	\$1,500.00	\$125.00	\$1,875.00	\$63.00	\$945.00	\$21.00	\$315.
5075B Permanent Channelization	1	LS	\$3,680.00	\$3,680.00		\$1,095.26		\$3,800.00		\$3,200.00		\$3,500.00		\$3,546.
TOTAL SCHEDULE V B				\$40,812.88		\$38,849.81		\$39,300.00		\$36,825.00		\$35,172.00		\$36,261.
SCHEDULE VI B - Electrical						I		I		ļ	1	į		
6005B Illumination System	1	LS	\$135,642.50	\$135,642.50	\$127,386.00	\$127,386.00	\$75,000.00	\$75,000.00	\$120,000.00	\$120,000.00	\$127,386.00	\$127,386.00	\$156,000.00	\$156,000.
6080B* Street Tree Bollard with Electrical Receptacle	7	EA	\$770.90	\$5,396.30		\$4,725.00		\$5,600.00		\$4,550.00		\$4,725.00		\$8,400
TOTAL SCHEDULE VI B		-	****	\$141,038.80		\$132,111.00		\$80,600.00		\$124,550.00		\$132,111.00		\$164,400.
SCHEDULE VII B - TESC						ı		ı		J	1	•		
7005B* Silt Fence	100	O LF	\$5.70	\$570.00	\$2.77	\$277.00	\$8.00	\$800.00	\$4.00	\$400.00	\$10.00	\$1,000.00	\$7.00	\$700.
7015B* Inlet Protection	7	EA	\$77.78	\$544.46		\$277.50		\$560.00		\$490.00		\$623.00		\$280
7020B* Straw Mulch	, 25		\$1.02	\$25.50		\$179.50		\$250.00		\$375.00		\$25.00		\$50
7030B* ESC Lead	50			\$3,450.00		\$2,025.00		\$5,000.00		\$1,500.00	· ·	\$9,750.00	*	\$500 \$500
7055B Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$3,450.00		\$2,025.00		\$5,000.00		\$1,500.00		\$9,750.00	-	\$500 \$10,000
TOTAL SCHEDULE VII B			Φ10,000.22	\$14,589.96		\$10,000.00 \$12,779.00		\$16,610.00		\$10,000.00 \$12,765.00		\$21,398.00		\$10,000 \$11,530
SCHEDULE VIII B - Roadside Restoration						ı		ı		J		•		
8000B* Street Tree, Including Planting and Staking	7	EA	\$941.28	\$6,588.96	\$198.00	\$1,386.00	\$850.00	\$5,950.00	\$900.00	\$6,300.00	\$677.00	\$4,739.00	\$725.00	\$5,075
8001B* Seeding, Fertilizing and Mulching	0.5		\$4,312.50	\$2,156.25		\$1,742.50		\$1,750.00		\$2,000.00		\$785.50		\$3,073
8005B* Topsoil Type A	50		\$58.65	\$2,730.23		\$1,517.50		\$2,000.00		\$2,600.00		\$3,000.00		\$1,750
8015B* Bark or Wood Chip Mulch	25		\$54.05	\$1,351.25		\$725.00		\$1,250.00		\$1,250.00		\$1,500.00		\$1,736
8025B* 48 Inch Square Ductile Iron "Kent" Tree Grate (2 Pi		EA	\$798.56	\$5,589.92		\$6,534.85		\$4,900.00		\$5,600.00	· ·	\$6,314.00	-	\$5,390
8030B* Tree Grate and Frame Installation	7	EA	\$106.15	\$743.05		\$1,540.00		\$1,050.00	*	\$805.00		\$525.00		\$700
8035B* Sod Installation	25		\$9.78	\$244.50	-	\$272.50		\$250.00		\$225.00	· ·	\$275.00		\$700
TOTAL SCHEDULE VIII B		-		\$19,606.43	*	\$13,718.35		\$17,150.00		\$18,780.00	· ·	\$17,138.50	-	\$15,690
SUMMARY						ı		ı		J		•		
SCHEDULE A						ı	1	ı	1	İ	1	•	1	
Total Schedule I A (Street)				\$302,306.06	. [\$347,589.55	.1	\$343,092.50	.1	\$406,210.00	1	\$456,697.50	, [\$436,900
Total Schedule IV A (Storm Sewer)				\$638.89		\$1,253.20		\$670.00		\$575.00		\$405.00		\$534
Total Schedule V A (Traffic Control)				\$74,447.00		\$70,159.10		\$86,000.00		\$66,250.00		\$62,340.00		\$64,530
Total Schedule VI A (Electrical)				\$289,946.30		\$273,078.00	1	\$331,900.00	1	\$261,400.00	1	\$273,078.00	, [\$318,100
Total Schedule VII A (TESC)				\$20,656.58		\$16,261.50	.1	\$25,380.00	. [\$16,520.00		\$35,529.00	, [\$15,040
Total Schedule VIII A (Roadside Restoration)				\$78,678.11		\$56,967.95	.1	\$71,550.00	. [\$76,860.00		\$70,066.50	, [\$66,730
SCHEDULE A TOTAL				\$766,672.94		\$765,309.30		\$858,592.50		\$827,815.00		\$898,116.00		\$901,834
SCHEDULE A TOTAL				\$766,672.94		\$765,309.30		\$858,592.50	1	\$827,815.00	1	\$898,116.00		\$901

CITY OF	KENT			1		2	3	4	5	6
2008 Do	wntown Sidewalk Improvements	BIDE	DER'S	End General C	onst., Inc.	Construct Co.	RW Scott Construction Co.	Rodarte Construction, Inc.	Pivetta Bros. Construction, Inc.	Oceanside Constuction
BID OPE	NING: August 12, 2008	NAM	E AND	28605 SE 216th Street		1621 Pease Avenue	4005 W. Valley Hwy #A	P.O. BOX 1875	P.O. BOX 370	1225 E. Sunset Dr. #145
		ADD	RESS	Maple Valley, V	WA 98038	Sumner, WA 98390	Auburn, WA 98001	Auburn, WA 98071	Sumner, WA 98390	Bellingham, WA 98226
		ТОТ	AL		\$1,190,694.80	\$1,197,589.06	\$1,241,16	.00 \$1,256,660.0	\$1,386,737.00	\$1,396,997.00
ITEM					TOTAL	TOTA	L T	TOTAL TOTA	AL TOTAL	TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUN	T UNIT PRICE AMO	UNT UNIT PRICE AMOUN	IT UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
SCHEDU	JLE B									
Total Sch	hedule I B (Street)				\$207,024.74	\$233,521.60	\$227,99	.50 \$234,630.0	\$281,916.50	\$265,412.00
Total Sch	hedule IV B (Storm Sewer)				\$949.05	\$1,300.00	\$91	.00 \$1,295.0	\$885.00	\$1,870.00
Total Sch	hedule V B (Traffic Control)				\$40,812.88	\$38,849.81	\$39,30	.00 \$36,825.0	\$35,172.00	\$36,261.00
Total Sch	hedule VI B (Electrical)				\$141,038.80	\$132,111.00	\$80,60	.00 \$124,550.0	\$132,111.00	\$164,400.00
Total Sch	hedule VII B (TESC)				\$14,589.96	\$12,779.00	\$16,61	.00 \$12,765.0	\$21,398.00	\$11,530.00
Total Sch	hedule VIII B (Roadside Restoration)				\$19,606.43	\$13,718.35	\$17,15	.00 \$18,780.0	\$17,138.50	\$15,690.00
SCHEDU	JLE B TOTAL				\$424,021.86	\$432,279.76	\$382,567	\$428,845.00	\$488,621.00	\$495,163.00
GRAND	TOTAL				\$1,190,694.80	\$1,197,589.06	\$1,241,160	00 \$1,256,660.00	\$1,386,737.00	\$1,396,997.00

CITY OF KENT		210	7		8		9			
2008 Downtown Sidewalk Improvements	BIDDE		Dennis R. Craig	Construction	Westwater Con		Gary Merlino Co		Engineer's Estir	
BID OPENING: August 12, 2008	NAME A		P.O. BOX 595			ck Diamond Rd.	9125 10th Aver		Garrett Inouy	е
	ADDRE	SS	Redmond, WA	98073	Auburn, WA 98	3092	Seattle, WA 98	3108		
	TOTAL			\$1,403,443.55		\$1,411,590.00		\$1,425,230.00		\$1,204,875.0
ITEM				TOTAL		TOTAL		TOTAL		TOTA
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUI
SCHEDULE I A - Street										
1000A Mobilization	1	LS	\$55,443.00	\$55,443.00	\$85,000.00	\$85,000.00	\$66,400.00	\$66,400.00	\$70,000.00	\$70,000.0
1005A Clearing and Grubbing	1	LS	\$13,004.00	\$13,004.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.0
1010A* Remove Existing Asphalt Concrete Pavement	75	SY	\$12.80	\$960.00	\$2.00	\$150.00	\$16.00	\$1,200.00	\$7.00	\$525.0
1015A* Remove Existing Cement Concrete Driveway/Pav	rement 275	SY	\$26.15	\$7,191.25	\$4.00	\$1,100.00	\$16.00	\$4,400.00	\$12.50	\$3,437.5
1020A* Remove Cement Concrete Sidewalk	1500	SY	\$14.60	\$21,900.00	\$3.00	\$4,500.00	\$10.00	\$15,000.00	\$12.00	\$18,000.0
1025A* Remove Cement Concrete Curb and Gutter	600	LF	\$10.75	\$6,450.00	\$2.00	\$1,200.00	\$7.00	\$4,200.00	\$7.00	\$4,200.0
1030A* Remove Cement Concrete Extruded Curb	20	LF	\$11.80	\$236.00	\$2.00	\$40.00	\$7.00	\$140.00	\$6.00	\$120.0
1035A Existing Irrigation System Removal, Repair and/o	or Modificatic 1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.0
1045A* Traffic Sign Relocation	12	EA	\$203.30	\$2,439.60	\$300.00	\$3,600.00	\$300.00	\$3,600.00	\$60.00	\$720.0
1050A* Saw Cut Existing Asphalt Concrete Pavement	900	LF	\$2.50	\$2,250.00	\$2.00	\$1,800.00	\$2.00	\$1,800.00	\$4.00	\$3,600.0
1055A* Saw Cut Existing Cement Concrete Pavement	125	LF	\$4.20	\$525.00	\$4.00	\$500.00	\$4.00	\$500.00	\$6.50	\$812.5
1060A* Roadway Excavation, Including Haul	350	CY	\$46.70	\$16,345.00	\$200.00	\$70,000.00	\$35.00	\$12,250.00	\$25.00	\$8,750.0
1065A* Unsuitable Foundation Excavation, Including Hau	ıl 50	CY	\$59.00	\$2,950.00	\$15.00	\$750.00	\$35.00	\$1,750.00	\$25.00	\$1,250.0
1070A* Geotextile Fabric, Non-Woven	50	SY	\$3.40	\$170.00	\$2.00	\$100.00	\$4.00	\$200.00	\$5.50	\$275.0
1075A* Gravel Borrow, Including Haul and Compaction	1000	TON	\$33.00	\$33,000.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00	\$20.00	\$20,000.0
1080A* Crushed Surfacing Top Course, 5/8 Inch Minus	625	TON	\$34.00	\$21,250.00	\$20.00	\$12,500.00	\$30.00	\$18,750.00	\$25.00	\$15,625.0
1085A* Crushed Surfacing Base Course, 1 1/4 Inch Minus	s 75	TON	\$44.30	\$3,322.50	\$20.00	\$1,500.00	\$35.00	\$2,625.00	\$25.00	\$1,875.0
1095A* HMA Class 3/4", PG 64-22	30	TON	\$286.00	\$8,580.00	\$300.00	\$9,000.00	\$280.00	\$8,400.00	\$90.00	\$2,700.0
1125A* Cold Plant Mix for Temporary Pavement Patch	10	TON	\$125.90	\$1,259.00	\$100.00	\$1,000.00	\$225.00	\$2,250.00	\$120.00	\$1,200.0
1140A* Cement Concrete Commercial Driveway, 8 Inch I	Depth, Reinfc 275	SY	\$61.70	\$16,967.50	\$100.00	\$27,500.00	\$114.00	\$31,350.00	\$85.00	\$23,375.0
1145A* Cement Concrete Sidewalk	2200	SY	\$39.00	\$85,800.00	\$57.00	\$125,400.00	\$40.00	\$88,000.00	\$35.00	\$77,000.0
1155A* Ramp Detectable Warning Retrofit	50	SF	\$50.00	\$2,500.00	\$30.00	\$1,500.00	\$78.00	\$3,900.00	\$15.00	\$750.C
1170A* Cement Concrete Sidewalk Ramp Type 2A	1	EA	\$1,425.75	\$1,425.75	\$900.00	\$900.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.0
1200A Cement Concrete Sidewalk Ramp Type 4A	5	EA	\$1,695.00	\$8,475.00	\$1,000.00	\$5,000.00	\$1,600.00	\$8,000.00	\$1,400.00	\$7,000.0
1205A* Cement Concrete Curb and Gutter	575	LF	\$15.60	\$8,970.00	\$65.00	\$37,375.00	\$30.00	\$17,250.00	\$23.00	\$13,225.0
1220A* Adjust Existing Catch Basin Grate or Curb Inlet G		EA	\$266.80	\$533.60	\$300.00	\$600.00	\$400.00	\$800.00	\$400.00	\$800.0
1225A* Adjust Existing Manhole Cover to Finished Grade	2	EA	\$424.50	\$849.00	\$300.00	\$600.00	\$400.00	\$800.00	\$400.00	\$800.0
1230A* Lower Existing Meter Setter	1	EA	\$635.00	\$635.00	\$500.00	\$500.00	\$400.00	\$400.00	\$250.00	\$250.0
1235A* Adjust Existing Meter Box to Finished Grade	2	EA	\$187.50	\$375.00	\$150.00	\$300.00	\$300.00	\$600.00	\$350.00	\$700.0
1240A Adjust Existing Junction Box to Finished Grade	8	EA	\$650.00	\$5,200.00	\$150.00	\$1,200.00	\$200.00	\$1,600.00	\$400.00	\$3,200.0
1245A* Replace Existing Meter Box for up to 3/4 Inch Dia		EA	\$446.70	\$3,126.90	\$200.00	\$1,400.00	\$600.00	\$4,200.00	\$300.00	\$2,100.0
1250A* Replace Existing Meter Box for 1-Inch to 2 Inch [EA	\$604.50	\$604.50	\$300.00	\$300.00	\$1,200.00	\$1,200.00	\$500.00	\$500.0
1315A* Pothole Utilities	30	EA	\$334.00	\$10,020.00	\$175.00	\$5,250.00	\$900.00	\$27,000.00	\$500.00	\$15,000.0
1325A* Remove Existing Landscape Tree	59	EA	\$894.00	\$52,746.00	\$600.00	\$35,400.00	\$450.00	\$26,550.00	\$200.00	\$11,800.0
1345A* Watering	200	HR	\$123.40	\$24,680.00	\$20.00	\$4,000.00	\$100.00	\$20,000.00	\$100.00	\$20,000.0
TOTAL SCHEDULE I A				\$425,183.60		\$469,965.00		\$411,515.00		\$346,090.0
SCHEDULE IV A - Storm Sewer										
4005A Storm Sewer Pipe, 6 Inch Diameter, RCP	8	LF	\$125.00	\$1,000.00	\$50.00	\$400.00	\$75.00	\$600.00	\$60.00	\$480.0
4175A* Crushed Surfacing Top Course, 5/8 Inch Minus	5	TON	\$34.00	\$170.00	\$20.00	\$100.00	\$30.00	\$150.00	\$25.00	\$125.0
TOTAL SCHEDULE IV A				\$1,170.00		\$500.00		\$750.00		\$605.0

CITY OF	KENT			7		8		9		1	
2008 Do	wntown Sidewalk Improvements	BIDDER	r'S	Dennis R. Craig	Construction	Westwater Con	struction	Gary Merlino Co	onstruction Co.	Engineer's Estir	mate
BID OPE	NING: August 12, 2008	NAME A	ND	P.O. BOX 595		31833 Kent-Bla	ick Diamond Rd.	9125 10th Aver	nue S.	Garrett Inouy	e
	Ç	ADDRE	SS	Redmond, WA	98073	Auburn, WA 98	3092	Seattle, WA 98	108		
		TOTAL			\$1,403,443.55		\$1,411,590.00		\$1,425,230.00		\$1,204,875.00
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	UANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE V A - Traffic Control										
5005A*	Traffic Control Labor	1200	HR	\$44.00	\$52,800.00	\$55.00	\$66,000.00	\$42.00	\$50,400.00	\$40.00	\$48,000.00
5015A*	Traffic Control Supervisor	300	HR	\$64.25	\$19,275.00	\$60.00	\$18,000.00	\$64.00	\$19,200.00	\$45.00	\$13,500.00
5020A	Temporary Traffic Control Devices	1	LS	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00
5035A*	Sequential Arrow Sign (SAS)	30	DAY	\$43.20	\$1,296.00	\$25.00	\$750.00	\$25.00	\$750.00	\$85.00	\$2,550.00
	TOTAL SCHEDULE V A				\$76,871.00		\$86,750.00		\$74,350.00		\$65,550.00
	SCHEDULE VI A - Electrical										
60054	Illumination System	1	LS	\$240,016.00	\$240,016.00	\$220,000.00	\$220,000.00	\$235,000.00	\$235,000.00	\$199,000.00	\$199,000.00
	Remove and Relocate Existing Luminaire	1	EA	\$2,800.00	\$2,800.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3.000.00	\$2,500.00	\$2,500.00
	Service Cabinet	3	EA	\$5,992.00	\$17,976.00	\$5,000.00	\$15,000.00	\$6,000.00	\$18,000.00	\$5,000.00	\$15,000.00
	Street Tree Bollard with Electrical Receptacle	32	EA	\$700.00	\$22,400.00	\$800.00	\$25,600.00	\$1,500.00	\$48,000.00	\$800.00	\$25,600.00
00007	TOTAL SCHEDULE VI A	32	LA	\$700.00	\$283,192.00	\$000.00	\$263,600.00	\$1,500.00	\$304,000.00	\$600.00	\$242,100.00
	TOTAL SOTILEGEL VI A				\$203,172.00		\$203,000.00		\$304,000.00		Ψ242,100.00
	SCHEDULE VII A - TESC										
7000A*	Silt Fence	500	LF	\$4.95	\$2,475.00	\$5.00	\$2,500.00	\$6.00	\$3,000.00	\$5.00	\$2,500.00
7015A*	Inlet Protection	11	EA	\$74.40	\$818.40	\$100.00	\$1,100.00	\$80.00	\$880.00	\$85.00	\$935.00
7020A*	Straw Mulch	50	SY	\$60.00	\$3,000.00	\$5.00	\$250.00	\$3.00	\$150.00	\$5.00	\$250.00
7030A*	ESC Lead	100	DAY	\$300.00	\$30,000.00	\$10.00	\$1,000.00	\$50.00	\$5,000.00	\$150.00	\$15,000.00
7055A	Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	TOTAL SCHEDULE VII A				\$46,293.40		\$14,850.00		\$19,030.00		\$28,685.00
	SCHEDULE VIII A - Roadside Restoration										
80004*	Street Tree, Including Planting and Staking	39	EA	\$581.50	\$22,678.50	\$1,500.00	\$58,500.00	\$1,400.00	\$54,600.00	\$750.00	\$29,250.00
	Seeding, Fertilizing and Mulching	0.5	AC	\$3,420.00	\$1,710.00	\$3,000.00	\$1,500.00	\$2,700.00	\$1,350.00	\$2,000.00	\$1,000.00
	Topsoil Type A	50	CY	\$52.20	\$2,610.00	\$70.00	\$3,500.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00
	Bark or Wood Chip Mulch	25	CY	\$67.20	\$1,680.00	\$70.00	\$1,750.00	\$47.00	\$1,175.00	\$35.00	\$875.00
	48 Inch Square Ductile Iron "Kent" Tree Grate (2 Piec		EA	\$950.00	\$37,050.00	\$800.00	\$31,200.00	\$800.00	\$31,200.00	\$925.00	\$36,075.00
	Tree Grate and Frame Installation	39	EA	\$375.00	\$14,625.00	\$150.00	\$5,850.00	\$400.00	\$15,600.00	\$250.00	\$9,750.00
	Sod Installation	25	SY	\$23.80	\$595.00	\$20.00	\$500.00	\$10.00	\$250.00	\$9.00	\$225.00
	TOTAL SCHEDULE VIII A	23	٥.	,25.55	\$80,948.50	\$20.00	\$102,800.00	2.0.00	\$106,675.00	\$7.03	\$79,175.00
	• • • • • • • • • • • • • • • • • • • •				,, .5.50						,
1				ı		I		1		Į.	

CITY OF	KENT			7		8		9			
2008 Do	wntown Sidewalk Improvements	BIDDEI	R'S	Dennis R. Craig	Construction	Westwater Con	struction	Gary Merlino Co	onstruction Co.	Engineer's Estin	nate
BID OPE	NING: August 12, 2008	NAME /	AND	P.O. BOX 595		31833 Kent-Bla	ick Diamond Rd.	9125 10th Aven	nue S.	Garrett Inouy	е
	_	ADDRE	SS	Redmond, WA	98073	Auburn, WA 98	3092	Seattle, WA 98	108		
		TOTAL			\$1,403,443.55		\$1,411,590.00		\$1,425,230.00		\$1,204,875.00
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION QUAN	TITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SCHEDULE I B - Street										
	Mobilization	1	LS	\$38,869.00	\$38,869.00	\$40,000.00	\$40,000.00	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00
	Clearing and Grubbing	1	LS	\$5,629.00	\$5,629.00	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	Remove Existing Asphalt Concrete Pavement	25	SY	\$12.80	\$320.00	\$2.00	\$50.00	\$16.00	\$400.00	\$7.00	\$175.00
	Remove Existing Cement Concrete Driveway/Pavement	250	SY	\$26.15	\$6,537.50	\$4.00	\$1,000.00	\$16.00	\$4,000.00	\$12.50	\$3,125.00
	Remove Cement Concrete Sidewalk	850	SY	\$14.60	\$12,410.00	\$3.00	\$2,550.00	\$10.00	\$8,500.00	\$12.00	\$10,200.00
	Remove Cement Concrete Curb and Gutter	150	LF	\$10.75	\$1,612.50	\$2.00	\$300.00	\$7.00	\$1,050.00	\$7.00	\$1,050.00
	Remove Cement Concrete Extruded Curb	25	LF	\$11.80	\$295.00	\$2.00	\$50.00	\$7.00	\$175.00	\$6.00	\$150.00
	Existing Irrigation System Removal, Repair and/or Modific		FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
1040B			LS	\$1,288.00	\$1,288.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
	Traffic Sign Relocation	15	EA	\$203.30	\$3,049.50	\$300.00	\$4,500.00	\$300.00	\$4,500.00	\$60.00	\$900.00
	Saw Cut Existing Asphalt Concrete Pavement	125	LF	\$2.50	\$312.50	\$2.00	\$250.00	\$2.00	\$250.00	\$4.00	\$500.00
	Saw Cut Existing Cement Concrete Pavement	50	LF	\$4.20	\$210.00	\$4.00	\$200.00	\$4.00	\$200.00	\$6.50	\$325.00
	Roadway Excavation, Including Haul	75	CY	\$46.70	\$3,502.50	\$200.00	\$15,000.00	\$35.00	\$2,625.00	\$25.00	\$1,875.00
065B*	Unsuitable Foundation Excavation, Including Haul	50	CY	\$59.00	\$2,950.00	\$15.00	\$750.00	\$35.00	\$1,750.00	\$25.00	\$1,250.00
070B*	Geotextile Fabric, Non-Woven	50	SY	\$3.40	\$170.00	\$2.00	\$100.00	\$4.00	\$200.00	\$5.50	\$275.00
)75B*	Gravel Borrow, Including Haul and Compaction	20	TON	\$33.00	\$660.00	\$20.00	\$400.00	\$20.00	\$400.00	\$20.00	\$400.00
80B*	Crushed Surfacing Top Course, 5/8 Inch Minus	100	TON	\$34.00	\$3,400.00	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$25.00	\$2,500.00
)85B*	Crushed Surfacing Base Course, 1 1/4 Inch Minus	20	TON	\$44.30	\$886.00	\$20.00	\$400.00	\$35.00	\$700.00	\$25.00	\$500.00
95B*	HMA Class 3/4", PG 64-22	10	TON	\$286.00	\$2,860.00	\$300.00	\$3,000.00	\$280.00	\$2,800.00	\$90.00	\$900.00
100B	HMA Class 3/4" for Full Width Overlay, PG 64-22	525	TON	\$102.20	\$53,655.00	\$95.00	\$49,875.00	\$100.00	\$52,500.00	\$90.00	\$47,250.00
110B	Planing Bituminous Pavement	1900	SY	\$8.00	\$15,200.00	\$5.00	\$9,500.00	\$5.00	\$9,500.00	\$8.00	\$15,200.00
25B*	Cold Plant Mix for Temporary Pavement Patch	10	TON	\$125.90	\$1,259.00	\$100.00	\$1,000.00	\$225.00	\$2,250.00	\$120.00	\$1,200.00
40B*	Cement Concrete Commercial Driveway, 8 Inch Depth, Re	einfc 250	SY	\$61.70	\$15,425.00	\$100.00	\$25,000.00	\$114.00	\$28,500.00	\$85.00	\$21,250.00
145B*	Cement Concrete Sidewalk	1100	SY	\$39.00	\$42,900.00	\$57.00	\$62,700.00	\$40.00	\$44,000.00	\$35.00	\$38,500.00
155B*	Ramp Detectable Warning Retrofit	150	SF	\$50.00	\$7,500.00	\$30.00	\$4,500.00	\$78.00	\$11,700.00	\$15.00	\$2,250.00
170B*	Cement Concrete Sidewalk Ramp Type 2A	1	EA	\$1,425.75	\$1,425.75	\$900.00	\$900.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00
205B*	Cement Concrete Curb and Gutter	150	LF	\$15.60	\$2,340.00	\$65.00	\$9,750.00	\$30.00	\$4,500.00	\$23.00	\$3,450.00
220B*	Adjust Existing Catch Basin Grate or Curb Inlet Grate to F	inis 4	EA	\$266.80	\$1,067.20	\$300.00	\$1,200.00	\$400.00	\$1,600.00	\$400.00	\$1,600.00
225B*	Adjust Existing Manhole Cover to Finished Grade	2	EA	\$424.50	\$849.00	\$300.00	\$600.00	\$400.00	\$800.00	\$400.00	\$800.00
230B*	Lower Existing Meter Setter	1	EA	\$635.00	\$635.00	\$500.00	\$500.00	\$400.00	\$400.00	\$250.00	\$250.00
235B*	Adjust Existing Meter Box to Finished Grade	2	EA	\$187.50	\$375.00	\$150.00	\$300.00	\$300.00	\$600.00	\$350.00	\$700.00
245B*	Replace Existing Meter Box for up to 3/4 Inch Diameter S	erv 2	EA	\$446.70	\$893.40	\$200.00	\$400.00	\$600.00	\$1,200.00	\$300.00	\$600.00
250B*	Replace Existing Meter Box for 1-Inch to 2 Inch Diameter	Ser 1	EA	\$604.50	\$604.50	\$300.00	\$300.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00
255B	Adjusting Existing Monument, Case and Cover to Finished	Gr 1	EA	\$395.00	\$395.00	\$200.00	\$200.00	\$400.00	\$400.00	\$500.00	\$500.00
315B*	Pothole Utilities	30	EA	\$334.00	\$10,020.00	\$175.00	\$5,250.00	\$900.00	\$27,000.00	\$500.00	\$15,000.00
320B	Remove Existing Asphalt Concrete Pavement from Gutter	175	SY	\$17.50	\$3,062.50	\$20.00	\$3,500.00	\$15.00	\$2,625.00	\$50.00	\$8,750.00
	Remove Existing Landscape Tree	3	EA	\$894.00	\$2,682.00	\$600.00	\$1,800.00	\$450.00	\$1,350.00	\$200.00	\$600.00
330B	Relocate Existing Landscape Tree	2	EA	\$871.70	\$1,743.40	\$250.00	\$500.00	\$500.00	\$1,000.00	\$400.00	\$800.00
	Watering	100	HR	\$123.40	\$12,340.00	\$20.00	\$2,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00
	TOTAL SCHEDULE I B				\$261,833.25		\$256,325.00		\$278,075.00		\$248,325.00
	SCHEDULE IV B - Storm Sewer										
4000B	Storm Sewer Pipe, 4 Inch Diameter, Ductile Iron, Class 50	20	LF	\$62.60	\$1,252.00	\$50.00	\$1,000.00	\$65.00	\$1,300.00	\$40.00	\$800.00
				•		i .		i		1	\$125.00

CITY OF	KENT			J 7		8		l 9		l	
	wintown Sidewalk Improvements	BIDDE	D'S	Dennis R. Craig	Construction	Westwater Con	struction	Gary Merlino Co	onstruction Co	Engineer's Estir	mate
	NING: August 12, 2008	NAME A		P.O. BOX 595	Construction		ick Diamond Rd.	9125 10th Aver		Garrett Inouy	
DID OIL	NINO. August 12, 2000	ADDRE		Redmond, WA	98073	Auburn, WA 98		Seattle, WA 98		Garrett mody	C
		ADDICE	.55	Realfiolia, WA	70073	Aubum, WA 70	5072	Scattle, WA 70	7100		
		TOTAL			\$1,403,443.55		\$1,411,590.00		\$1,425,230.00		\$1,204,875.00
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.		UANTITY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	TOTAL SCHEDULE IV B				\$1,422.00		\$1,100.00		\$1,450.00		\$925.00
	SCHEDULE V B - Traffic Control										
5005B*	Traffic Control Labor	600	HR	\$44.00	\$26,400.00	\$55.00	\$33,000.00	\$42.00	\$25,200.00	\$40.00	\$24,000.00
5015B*	Traffic Control Supervisor	150	HR	\$64.25	\$9,637.50	\$60.00	\$9,000.00	\$64.00	\$9,600.00	\$45.00	\$6,750.00
5020B	Temporary Traffic Control Devices	1	LS	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
5035B*	Sequential Arrow Sign (SAS)	15	DAY	\$43.20	\$648.00	\$25.00	\$375.00	\$25.00	\$375.00	\$85.00	\$1,275.00
5075B	Permanent Channelization	1	LS	\$3,584.00	\$3,584.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
	TOTAL SCHEDULE V B				\$42,069.50		\$48,875.00		\$41,675.00		\$35,525.00
	SCHEDULE VI B - Electrical										
6005B	Illumination System	1	LS	\$132,104.00	\$132,104.00	\$125,000.00	\$125,000.00	\$140,000.00	\$140,000.00	\$116,000.00	\$116,000.00
6080B*	Street Tree Bollard with Electrical Receptacle	7	EA	\$700.00	\$4,900.00	\$800.00	\$5,600.00	\$1,500.00	\$10,500.00	\$800.00	\$5,600.00
	TOTAL SCHEDULE VI B				\$137,004.00		\$130,600.00		\$150,500.00		\$121,600.00
	SCHEDULE VII B - TESC										
7005B*	Silt Fence	100	LF	\$4.95	\$495.00	\$5.00	\$500.00	\$6.00	\$600.00	\$5.00	\$500.00
7015B*	Inlet Protection	7	EA	\$74.40	\$520.80	\$100.00	\$700.00	\$80.00	\$560.00	\$85.00	\$595.00
7020B*	Straw Mulch	25	SY	\$60.00	\$1,500.00	\$5.00	\$125.00	\$3.00	\$75.00	\$5.00	\$125.00
7030B*	ESC Lead	50	DAY	\$300.00	\$15,000.00	\$10.00	\$500.00	\$50.00	\$2,500.00	\$150.00	\$7,500.00
7055B	Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	TOTAL SCHEDULE VII B				\$27,515.80		\$11,825.00		\$13,735.00		\$18,720.00
	SCHEDULE VIII B - Roadside Restoration										
8000B*	Street Tree, Including Planting and Staking	7	EA	\$581.50	\$4,070.50	\$1,500.00	\$10,500.00	\$1,400.00	\$9,800.00	\$750.00	\$5,250.00
8001B*	Seeding, Fertilizing and Mulching	0.5	AC	\$3,420.00	\$1,710.00	\$3,000.00	\$1,500.00	\$2,700.00	\$1,350.00	\$2,000.00	\$1,000.00
8005B*	Topsoil Type A	50	CY	\$52.20	\$2,610.00	\$70.00	\$3,500.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00
8015B*	Bark or Wood Chip Mulch	25	CY	\$67.20	\$1,680.00	\$70.00	\$1,750.00	\$47.00	\$1,175.00	\$35.00	\$875.00
8025B*	48 Inch Square Ductile Iron "Kent" Tree Grate (2 Pier	ces) 7	EA	\$950.00	\$6,650.00	\$800.00	\$5,600.00	\$800.00	\$5,600.00	\$925.00	\$6,475.00
	Tree Grate and Frame Installation	7	EA	\$375.00	\$2,625.00	\$150.00	\$1,050.00	\$400.00	\$2,800.00	\$250.00	\$1,750.00
8035B*	Sod Installation	25	SY	\$23.80	\$595.00	\$20.00	\$500.00	\$10.00	\$250.00	\$9.00	\$225.00
	TOTAL SCHEDULE VIII B				\$19,940.50		\$24,400.00		\$23,475.00		\$17,575.00
	SUMMARY										
SCHEDU	JLE A										
Total Sc	hedule I A (Street)				\$425,183.60		\$469,965.00		\$411,515.00		\$346,090.00
	hedule IV A (Storm Sewer)				\$1,170.00		\$500.00		\$750.00		\$605.00
	hedule V A (Traffic Control)				\$76,871.00		\$86,750.00		\$74,350.00		\$65,550.00
	hedule VI A (Electrical)				\$283,192.00		\$263,600.00		\$304,000.00		\$242,100.00
	hedule VII A (TESC)				\$46,293.40		\$14,850.00		\$19,030.00		\$28,685.00
	hedule VIII A (Roadside Restoration)				\$80,948.50		\$102,800.00		\$106,675.00		\$79,175.00
	JLE A TOTAL			1	\$913,658.50	I	\$938,465.00	1	\$916,320.00	I	\$762,205.00

CITY OF KENT			7		8		9	
2008 Downtown Sidewalk Improvements	BIDD	ER'S	Dennis R. Crai	g Construction	Westwater Con-	struction	Gary Merlino Construction Co.	Engineer's Estimate
BID OPENING: August 12, 2008	NAME	AND	P.O. BOX 595		31833 Kent-Bla	ick Diamond Rd.	9125 10th Avenue S.	Garrett Inouye
	ADDR	RESS	Redmond, WA	98073	Auburn, WA 98	3092	Seattle, WA 98108	
	ТОТА	.L		\$1,403,443.55		\$1,411,590.00	\$1,425,230.00	\$1,204,875.00
ITEM				TOTAL		TOTAL	TOTAL	TOTAL
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
SCHEDULE B								
Total Schedule I B (Street)				\$261,833.25		\$256,325.00	\$278,075.00	\$248,325.00
Total Schedule IV B (Storm Sewer)				\$1,422.00		\$1,100.00	\$1,450.00	\$925.00
Total Schedule V B (Traffic Control)				\$42,069.50		\$48,875.00	\$41,675.00	\$35,525.00
Total Schedule VI B (Electrical)				\$137,004.00		\$130,600.00	\$150,500.00	\$121,600.00
Total Schedule VII B (TESC)				\$27,515.80		\$11,825.00	\$13,735.00	\$18,720.00
Total Schedule VIII B (Roadside Restoration)				\$19,940.50		\$24,400.00	\$23,475.00	\$17,575.00
SCHEDULE B TOTAL				\$489,785.05		\$473,125.00	\$508,910.00	\$442,670.00
GRAND TOTAL				\$1,403,443.55		\$1,411,590.00	\$1,425,230.00	\$1,204,875.00